BE/\—t 2 MEEREEREERS 2

©®©2 5%DREKSE 0 glckZ 4 5 gMNAFBICTTE 2 RIBKDEEIZFE%H
2 5%DRIEKE 0 glcRIEIX
80X 0,25=20 K> T 20g DBIEHNAZTEN TS

B8R
—— X100) - pons. e

0
80+45 x100-0.16
B2 16%

ORIEN 40gEEHLIK160gDEE/N\—T > MEEIEWL DD
L2 DRIBKDEEZHFDICT BIcIEKZM g il ZANUIEL K WD

J:OT

i
BE %1000 % »100-20

40+ lbO
£27T gi 20%

ok X gMA TREZF 5. 2&Y 10%lcTniEL0D5

40 _ . —_— ~
4O+160+XXIOO—IO THERNT X =200 2% 200g

@RIEN 10%DEIEKT 00 g&BIENT 5%DERIEK
150 g Z BB 1B CE S BIBKDREIX %D

BENOIgEENTLSBERIEKT 00g=>BE 10g+7K90g AEODT MX 100

100+ 150
EZA13%

BEMN 59gFFENTVSRIEK 1509 =>BE 22,59+7K 127,59




